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I Continuation of dispute between n11 and qov "7 as to whether wix’ is a Pap (1271 — it is, but unclear if n”nn or v”1n)
a  Challenge (901 "1 2 737): if A steals ynn from B and then noa passes (2 nRina 7OR), A may return it as is w/o liability
i Explanation: since B was certainly wk»n, A should have acquired at (on jv’12 T°) and owe the value
ii  defense: w1 is only effective when B is wk»n and A desires to acquire
b Challenge (»ax= 117 : v. 1 excludes 5
i Explanation: exclusion must refer to after w8, since before wiv’ it’s obviously not his = W’ isn’t an effective p
ii  defense (8¥27): v. 2 also excludes a stolen (bed)
1 Explanation: cannot be a case where he stole materials and wove them into a bed — nwyn n»v is certainly nnp
2 Rather: must be a case where he stole another’s bed
3  Sotoo:in v. 1, reference is when he stole another’s 1279
¢ Challenge(»axn=> 9or *): (n:12 ©’53) hides of 2”nya are liable for nkmv via intent (to have finished tanning), but not artisan
i p’maanis like a 2”nya (in the default case of nan, there is DYy VIR’ and NP WINY); 1911 like an artisan (for this rule)
ii ~ w”r inverse: 213 is like an artisan (nawnn is insufficient) and a 191 like a 2”nya (there is w8 in case of nY)
1 implication: IR is the key factor in determining ownership here (for both p"n and v™)
iii defense: in this case, he also trimmed the hide (nwyn mw + vr’)
1 block: we know this to be a case of a dining cover, which needs no trimming (r:12 ©'92)
2 answer (9o “1after death of 727): due to Dwn "W (now called naxy), which is fundamental reason for NWyn Mmw
(a) Challenge: a beam (v>1n) is only liable for nnT if built into a house due to D’awn mpn, even though nwn Mw
(i) Answerl: always called w»n as per interpretation of v. 3
(ii) Answer2 (¥ 71 ’9): if taken out of house, the wn returns to a “board” (X11w3) — this is 1M”12% NN MY
1. Unlike: the hide, that can never be restored to its original state
(b) Challenge: ruling re: a pipe as generating 1218 D>, only a problem if hollowed then placed in
(i) Explanation: if own Mw is significant, should be a problem even if placed then hollowed
(ii) Answer: 11277 P2IRY DN 70
(iii) Challenge: if so, even if hollowed then placed, shouldn’t invalidate waters
(iv) Answer: when hollowed, it already has '3 nin
d  Challenge (to 901 79): if an VIR, 1913 or 213 generate WTPN or NMAN, it’s valid (= NP VINY)
i Defense: there, too, there is nwn Mmw (Y20 > MWVYN, PN > VIPN)
I Interepretations of v 4: from XTON ", quoting MY '3
a  Version #1: proves that nnp »1w, since Y11 TR is superfluous = must be in original state, else liability is for value
i Challenge: phrase needed to teach that wnn only applies to his own theft, not his father’s
ii  Answer: it could have said 191, use of Y1 7wR teaches both
b Version #2: proves that nnp WR MY, - DY in any case
i challenge: 913 7R
ii  answer: needed to teach that wmn is only paid for his own theft (as above)
III  sources for wiN?being ineffective (support for 9o *7):
a N5 v.5 compares invalidity of stolen 117p with the lame: just as the lame cannot be fixed, so too, the stolen
b »37-v.1, which must be (as above), after vir
i challenge: ®27 himself defended against this argument by invoking v. 2 (above)
ii  answerl: X271 may have changed his mind about it
iii  Answer2: one of the statements may have been made by &aa "3 (his student)
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